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)] What is 950 =+ 100?

2)  Multiply 716 by IO
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3) Work out

Y) What number is |00 more than 76,309?
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)] What is 68 <+ 100?

2) Complete 193 X ... =1,930
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3) Work out | — 0

4Y)  Whatis 43 X 5?
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)] What is 0.6 X 7?

2) What is 18 = 10?
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3) Work out |

Y) Work out 2,791 metres — ,344 metres
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)] What is 0.06 X 7?

2) Work out HO = 100
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3) Work ou+3§—|§

4)  Put these lengths in ascending order.

350 metres 3 metre 3 km
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)] What is 0.7 X I3?

2) | whole is equal to how many tenths?

3) Work oufé X Y

Y) Work out £12.30 + £182
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